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BEZED RHLD HZQ BRI 20404 20604 20404 20604 A
BAr—2 1 2.07 A Q{EHKYUE O 21,346 16,790 ~51.9%
A —2 2 2.07 A Q{EHKYE O 20,742 15,293 ~56.2%
WBAr—23 208 WFEHmLAHAR O 21,423 16,922 ~51.5%
WBAr—24 208 WFEHmEHAR O 20,814 15,405 ~55.9%
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WBAr—25 208 WFEHmLAHAE 214 (43~ S4stETHY) O 21,464 17,081 51.1%
i ] HH A= SR 2 7 1)
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BAr—26 208 WEHmLAHAR 214 (43~ S4stETEY) O 20,852 15,541 55.5%
. BRI -
Tir—2@ | 214 (g3 sagieirs) O 21,555 17,220 50.7%
o BRI -
Tir—2®@ 214 (g3 sagieirs) O 20,936 15,657 55.1%
fir—2 @  2.24  H2SEQFHEERHIESOK O 22,042 18,139 ~48.0%
Hr—2@  2.24  H2BEAFHSRRIESRN O 21,380 16,439 ~52.9%
Hir—2 G  2.24 HSEAFHERRAR O 21,775 17,726 ~49.2%
Hisr—2®  2.24  HSHEAFHRERHAR O 21,140 16,086 ~53.9%
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FRAODFEFHMBEHE (FR27F8A)
2 WEEIT—REOADES(R)

=R 20104F | 20154F 20204F | 20254 20304F | 2035%4F | 20404 | 20504F | 20604

B —=1 34,905 31,947 29,347 26,975 24,855 22,985 21,346 18,624 16,790

Bhr—=x 2 34,905 31,947 29,347 26,911 24,666 22,610 20,742 17,493 15,293

B —= 3 34,905 31,954 29,366 27,010 24,911 23,055 21,423 18,727 16,922

B —=x 4 34,905 31,954 29,366 26,946 24,721 22,677 20,814 17,580 15,405

B —25 34,905 31,954 29,366 27,010 24,911 23,069 21,464 18,820 17,081

R —26 34,905 31,954 29,366 26,946 24,721 22,690 20,852 17,664 15,541

m7r—AO 34,905 31,964 29,391 27,056 24,984 23,155 21,555 18,933 17,220

mor—2@ 34,905 31,964 29,391 26,991 24,793 22,773 20,936 17,760 15,657

m7r—A@ 34,905 32,112 29,635 27,363 25,338 23,564 22,042 19,615 18,139

Mo —A@ 34,905 32,112 29,635 27,298 25,139 23,157 21,380 18,352 16,439

7 —2® 34,905 31,979 29,433 27,132 25,105 23,323 21,775 19,281 17,726

mor—A® 34,905 31,979 29,433 27,067 24,912 22,934 21,140 18,063 16,086
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